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In one box, three different types of old coins are
in the ratio of 3: 5: 7, the value of old coins is Rs.
1, 5 and 10 rupees respectively. If the total price
of coins kept in the box is 686, then tell the
number of old coins of 10 rupees.

U AT |, T HAT-HETT THR o 0 faeh 3:
5: 7 & ATUTA | &, T Haeht &1 964 100 99 21
SHEIT: 1, 5 3R 10 T afg fSea & w@@ et &t
et hiAd 686 &, a1 FAT3C 10 TS & T Erant
sh! T

(A)48 (B) 51 (C) 50 (D) 49
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A person travels from the hostel to the college with a
speed of 15 kmph from the bicycle and reaches a 4.5
minute delay. If he runs a bike with a speed of 20
kmph, then it reaches 4.5 minutes.Describe the
distance between hostel and college. (In km)

Ush <A BETEE A hicdd dh ATeieher & 15 Tt
utar © Y Tid & T At § AR 4.5 fome & 3 7=
ugaat 81 afe aw 20 ot ufa @ & ofe & ans
Tl 7, A1 9% 4.5 e T aga S s Taw iR
HTCTH o S1d shi 1 o1 JUiT hiterg) (Feet )
(A)8(B)6(C)9 (D)7
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Tell the product of two numbers, which are LCM
9017 and HCF 1.

1 TEATSAT T TUHGE TAT3T, AT LCM 9017 3R
HCF 1 I

(A) 9015 (B) 9011 (C) 9017 (D) 9013
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Selling an item for 440 rupees is the loss of 60%
of the profit received on selling the same item in
1000 rupees. Know the purchase price of that
item? (In rupees)

Ush T T 440 TIA § I94 WX 6T T%q i fhad
FIY § FEA U ATH A1 AT 60% A Bt 221000
EUY| 30 TEG T hd Hod 71d L2 (99 W)

(A) 650

(B) 680

(C) 660

(D) 670
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If the radius of a circle is given up to 19 times,
how much of its perimeter will be the perimeter

of the previous perimeter?

afe ver o <ht Brea 19 A1 @k & St 7, a gaeh
uftfer st feRaaT wrT fuser ufmma s aftarma g
(A) 20

(B) 19

(C) 21

(D) 18
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In the mixture of 84 liters, the ratio of milk and
water is 3: 4. If this ratio is changed to 3: 5, then
tell the amount of excess water (in liters) mixed in
the mixture.

84 witex & fhrsror &, o R Ut T T 3: 4 .
afg 39 AT T 3:5 H qgor faan s at fsor |
e o arfafees T (et o) <ht v Tam)
(A) 11

(B) 13

(C) 14

(D) 12
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An amount of Rs 7,600 is invested on ordinary
interest at an annual rate of 8%. If after 5 years
the amount was withdrawn and half the amount
of the total amount was invested in the stock

market. The remaining amount (in rupees)

7,600 TUH hHT TIIT i 8% chl AT T T TATEMROT
T WX Aayr foram s 21 a@fe 5 arer & e i
TeRTeT &t ATt & SR et W97 T AT et I
TR o e s o st 21 vre afvr saar w)

(A) 5,420 (B) 5,220 (C) 5,210 (D) 5,320
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When a number is divided by 119, the remainder
remains 10. When the same number is divided by
17, what will be the remainder?

A Uk H@&AT @t 119 ¥ e fean smar g, @b
VUG 10 T ATET 81 T AU HEAT i fohdeh g
IECIECRED IS 10

17. 3T 9T /T B2

(A)7

(B)9

(OR.

(D) 10
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375! How many number of zero at end of product
of numbers ?

375! HEATAT & TUAES o ’d W I ! TehaT
HEAT 87

(A) 93

(B) 94

(C) 92

(D) 91
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If a shopkeeper hikes the purchasing value of an
item by 46% and gives it a discount of 46% on the
face value for selling it, then know the total
percentage gain or loss it will have?

afe g gHER fRet a5 & T 909 | 46% H
I IATE AR IAWA6Y R P AT IAT ®
foTe %E 359, @1 AT 3HET et JfAvra ATH AT
F?

(A) 21.16% profit

(B) 20.04% Loss

(C) 20.04% Profit

(D) 21.16% Loss
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A train takes 57 seconds to cross the 204 m long
bridge. If the same train takes 23 seconds to cross a
signal board, tell the length of the train. (In meters)

Tk ¢ 204 Wi & Ut ohi TR & H 57 Hehs i A0
ot 2. afe @ 39 v firaer a1 @t R & H 23
Tehs o1 AHT A &, a1 2 hi oaTg Far0) (HieT ®)
(A) 138

(B) 128

(C) 118

(D) 148
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At the rate of any compound interest rate, it gets
tripled in 4 years, in how many years it will
become 2187 times its own?

forelt ot Tshateg STt S hl W H, T8 4 J91 § dF
TAT & AT €, FoRe At § @ orue T 3 2187 T
=1 AT ?

(A) 22

(B) 26

(C) 28

(D) 24
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A shopkeeper sells a product in Rs.2,367 and earns

12.5% profit. Tell the amount that is equal to half l|12-57.=236%

of the purchase price of the product (in Rs.) l 8 2613 o
Ueh JohaR Ueh IcT2 Wi 2,367 9 § 9T g 3R --236‘7',@5
12.5% TITH SHATAT 2. IO 3T shi TATSC AT IUTE 'gg

T Hd oh ATY & SR ¢ (B9 H)

W 106 2% {\2
(B) 1,062 > = 283 X SO
(C) 1,042 A

(D) 1,032 - o S2

\
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A gift box has 10 bangles. The average weight of “q >1 229
the first 4 bangles is 5S7gms and the average X,
weight of the remaining 6 bangles is S8 gms. Tell

the average weight of all bangles | (in grams)
U e dram & 10 gfsat 8 9get 4 gfsar & ‘——7

HATEA T 57 TTH § 3R 9 6 AFSAT BT 318 T

58 7T %1 |t GfEat @ sitad aw FaTd | (T ) -5—7f:57-6
(A)57.4 lo e
(B) 57.2

& 57.6

(D) 57.8
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If the cube with a 26\3 em diagonal is melted then an = VW
how tall is the height of the cuboid, if the length of

the cuboid is equal to the arm of the cube, and the QQ(_% ’526: %XJ’sxh
2

width of the cuboid is 13 cm? (in ¢cm)

afs 263 @it foreod et o ot Rwem@n s R A | - g2
gy il Fug Rt g, AR e R dEs aw R
AT 3 STE €, ST 9T <hY wiTeTs 13 |t 22 (3wt o)

(B) 54 QA0 = 2€ \‘Z v
(OF Q=26
(D) 55
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The station master decides that the length of the A=2+y+ 1&
rectangular digital board is increased by 4% and d

the width is reduced to 6%. Find out the total

change in the area. A-y-¢ 4.(‘!)(_—-6)
TV AR v #at 7 o AR Bhiee e TS
<hl TaTE 4% | 9¢ ATl & 3R

<fraé 6% e & A AT B H g afeda w2 — O 2Y
(A) 1.24% reduction

(B) 2.24% increase
) 2.24% reduction

(D) 1.24% increase
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H G)
The proportion of salaries of Hameed, Clement 9 e T
and Ganesh is 3: 5: 7, respectively, if Ganesh is \_/7
getting Rs.892 more from Hameed. What is \' R =892
Clement's salary? (In rupees)
gHIE, FEAHE 3 TTUIVT 3 Ja9 ST ATITE SHAM: 3: IR =892 :-992
5: 7%, afe ToreT  TetE & 892 U aifires firer @ Y
FHE 1 A4 F4T 82 (59 H) %mﬂ"’ GR =6%222
(A) 1,145 — = 115
JBr1,115
(C) 1,125

(D) 1,135
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(A) 5096 21 - S\2 -
(B) 2096 16 _
() 4096 2 =lo2y
[
(D) 3096 2 = 20U
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The average of three numbers is 243. If the ratio 3
of second to second is the ratio of 2: 3 and the
ratio of the third to the third is 3: 4, then find the A. 3

C

second number? q"&;ﬂ' . 3 -y
A AEATat T STEd 243 71 Aty gedt & gEd @ ' '
HFAUTE 2: 3 B AR & et w1 T 3: 4
et et st T s IR =729

R =729l
(A) 84 ?
(W) &l 3R = 2x8
o8 3x8|

(D) 83
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A bulb producing company found that 11% of the joo /.
overall product is defective_If the number of nop
defective products is 7031 then find the number of

V2 9y

#

defective products.

U% dod IUTgeh haAt A 9T R et Ieag
11% 99Ut 71 afs d@ear T8 SV =763
m- a1 IUYUT IeATST Shi HEAT AT | -

it 4 -
X869 87)703, (79 &9

(B) 859 623 0y - ‘
(C) 849 Y - T
(D) 879 8¢9
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The amount doubles itself under Compound

interest in 3 years. In how many years will it 3 2
become. 2048 times of it? e

3 qUT H AshATg SATH oh dgd T GRHT &1 ATl 21 20ug: 2
foRa Iut W T FHERT 2048 TAT & ATCT? 31 ]
(333 Years (B) 35 Years =33

(B) (C)37 Years (D) 31 Years
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The



